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im 0.10 0.10 0.06 0.06 0.08 0.08
_ 50cm 0.07 iR s X .
211 |RIFET  |ZO0it RIS T E TXIEEL 4— 78218 S A O L ZRIAGEL =8 . TR A EIE
Im 0.06 [EEZ] &L
] ) ) ) 50cm 0.07 0.07 0.06 0.06 0.08 0.08
212 |ERHAT MERRRESSD ERFELYSD 78218
1m 0.06 0.06 0.06 0.06 0.07 0.07
. 8 o pops 50cm 0.05 0.06 738
213 |[ERET  |zoM EREFELREESIDHAZ—E | 7218 e WL
1m 0.05 0.05
50cm 0.12 0.11 0.10 0.11 0.11 0.12
214 |)I|{=HT ZDih FATCIF2ERT—Vay 78208
im 0.1 0.10 0.10 0.10 0.1 012
] ) ‘ 50cm 0.08 0.09 0.06 0.06 0.09 0.09
215 JIRET  |[KEBERESST  |bLblsSI 78208
im 0.09 0.09 0.06 0.06 0.10 0.09
. . 50cm 0.10 0.11 0.06 0.08 0.09 0.10
216 |JI{=HT BERBRFELHE INET=DOLWEE(NELAREE) 78208
im 0.08 0.10 0.07 0.07 0.09 0.09
= 3 o = i 50cm 0.10 0.13 0.07 0.07 0.09 0.10
217 NIRRT [REETFELEE ;;;Rf-‘”u‘ﬁi““*”’ﬁ%h 7A208
im 0.1 0.12 0.07 0.06 0.09 0.09
50cm 0.07 0.08 0.08 0.08 0.09 0.10
218 IRET |z POCCOMPhES- 78208
1m 0.08 0.08 0.09 0.08 0.08 0.09
e b S gL 50cm 0.08 0.09 0.05 0.07
219 NIRAT |24 REREXE BRESTAIEX | 15508 [EES] L
anbini 1m 0.07 0.08 0.05 0.06
] ) ) ) 50cm 0.07 0.08 0.08 0.10 0.09 0.10
220 |[KER  |[KEREBEIST | BEEEFELHST 78168
im 0.07 0.09 0.10 0.09 0.09 0.10
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AEES R E EREE L Sv/h)
No. | mETH 7 RS AT BE | soom BueAn xH (s - 4IBD T 1918) i
o sm | wem | 4@ | mism | sm | ®mism
a1t e it 50cm 0.07 0.08 007 0.07 007 0.08
21 [XEM  |pER@Frigs | SHERRTCVAEOENENR] 5g0q
bt 1m 0.07 0.08 0.07 0.07 0.07 0.08
] ‘ ] ‘ 500m 0.09 0.09 0.08 0.10
202 |KEH  |[REETLLEE | KUKEETOLEE(KLARE) | 7A16E [EES] ®L
1m 0.08 0.09 0.08 0.09
50cm 0.09 0.10 0.07 0.08
223 | KEH ZDfth <h7F 78168 [EEE] &L
im 0.10 0.10 0.08 0.08
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